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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 151.81 1.00 100.00 1.00 - 14.34 2.68
2 3 151.81 1.00 100.00 1.00 - 14.34 2.68
3 4 - - 100.00 1.00 - 12.23 2.28
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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
- 67.05 1.00 - 8.22 154
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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 152.69 1.00 100.00 1.00 - 14.24 2.66
2 3 163.52 1.00 100.00 1.00 - 15.43 2.88
3 4 163.52 1.00 100.00 1.00 - 15.43 2.88
4 5 153.45 1.00 100.00 1.00 - 14.54 2.72
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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m kN/m?
- 62.14 1.00 16.71 3.12 16.05 3.00
1478-4

(A)




1478




199

50

25

1478-5

(A)

100kN/

1:1,000




50

199

I+

1478-5

1:1,000

"




m m
m m
100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 - 100.00 1.00 - 10.37 1.94
2 3 - 76.10 1.00 - 10.72 2.00
3 4 - 63.77 1.00 - 10.72 2.00
4 5 - 63.77 1.00 - 12.21 2.28
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